SN MSVED
I S M YRE AH(SHADB/HS)
S99 HSE2Y NYs sS4 (=R RE-E))

HerED 56,704,590 39.162,777 17,541,813
= 3,800,000
z 8,890,000
7| 8,461,212
= 35,553,378
st HS LT M (SHLZ/HK) 56,606,910 39,049,037 17,557,873
2 3,800,000
ol 8,890,000
7l 8,461,212
= 35,455,698
Hessy Hos sS4 6,343,500 . 5.341,100 1,002,400
Hers 2435 208,220 © 228,220 £20,000
201 L2 A 1,500 ’ 1,500 0
01 AL 22| H] 1,500 1,500 0
03l° 2g22 Y 500
OLAMSESAIH W M= 1,000
202 01| 6,720 6,720 0
01 2401t 6,720 6,720 0
oNMSIEYR X 5,720
OSHRUR 8D - 844 S5 XN 1,000
307 QI2+0| & 200,000 200,000 0
02 BIZtHABX 200,000 200,000 0
OO0IEE HILIA OFIED0 2Y 200,000
T AY2ESHIR 2Y 5,265,280 4,392,880 872,400
201 Yt A 457,280 227,280 230,000
01 AL 22| Y| 392,280 162,280 230,000
0ZYIIE ABE 40,000
ORH ¥ 282 ¢ 200,000
OROIAHAAH B2 2,280
OXtg AR 20,000
04 Ax=2 130,000
02 BR2KH| 65,000 65,000 0
OHs=A S 2R3 55,000
Q& AHY B 3H| 10,000
301 YprE A 4,808,000 4,165,600 642,400
Moscs - 2sRszA2 4,808,000 4,165,600 642,400
OX4 Y XIZX o2 3,717,440
OJl=2 2,069,651
= 422,184
~d 1,647,467
OZ Al 415,800
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SH:

H:

=

HMEd &L

28 e AT ME (B2

HEssE A

174,904

IEELS]

Ospisg 277,200

O =S| 209,885

oza+g 345,600

I 19,200

-2%| 8,400

-~ 318,000

ONESg 12,000

~HH 2 Xt 6,720

~ROILE 5,280

o= 92,400

OZAZ 120,000

OFNE ¥ 43l &It 610,560

OFXI SR 305,280

=Y 110,880

-293d 194,400

O EE=PIT 305,280

-2 110,880

-=2¢| 194,400

O 4RI 480,000
SHBUR 81 & M4 |4 870,000 720,000 150,000
307 QI2HOIA 150,000 0 150,000
02 Q1AM T 150,000 0 150,000

OSHSEY Ul 4S84 150,000
703 NKHISHHTE2 720,000 720,000 0
01 NSHISESHHER 720,000 720,000 0

OBUS & X 560,000

OBUS H4 N 160,000
HMSIIAL =5 32,292,866 17,607,640 14,685,226

= 3.800,000

z 8,890,000

J| 6,104,000

= 13,498,866
HSAE 25 2835t 9,866 10,740 874
202 04| 9,866 10,740 874
01 2401l 9,866 10,740 ~874

OSENSANEY BAS 2,000

OBTHSAL HBAY 5T 7,866
ZDUSAL =5 4,750,000 3,410,000 1,340,000
403 XIS HSKH=0IA 4,750,000 3,410,000 1,340,000
01 XX S X =28 E 4,750,000 3,410,000 1,340,000
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SAl
X XM :
=T I

ol

HEdsn

HE M L/E S (B 2/

HFIIEtAIE &=

HENE &5

1,550,000 |

OLATUHKHS X2 3,200,000

AF ZEHS AY(2D) 4,913,000 6,600,000 21,687,000
z 2,900,000
E 2,013,000

403 XHXI SHHS K20l & 4,913,000 6,600,000 21,687,000
= 2,900,000
= 2,013,000

01 X SHMA=LE 4,913,000 6,600,000 1,687,000
0O%E BZEHSH AY 4,913,000
z 2,900,000
< 2,013,000

33 M2 AY(2D) 1,434,000 0 1,434,000
= 1,200,000
] 234,000

403 XEXI RIS X201 & 1,434,000 0 1,434,000
z 1,200,000
= 234,000

01 X SHAE R E 1,434,000 0 1,434,000
Ost® HMSH A 1,434,000
z 1,200,000
= 234,000

AF FOIO HEHSD AY(2D) 6. 104,000 0 6,104,000
b 6,104,000

403 XHXI M S0l R 6,104,000 0 6., 104,000
7l 6,104,000

01 X SHR=EE 6,104,000 0 6, 104,000
OFOY HE M2 AY 6,104,000
Il 6, 104,000

HEANE signe 1,270,000 1,000,000 270,000

307 BI2t0IH 10,000 0 10,000

02 pIABABE 10,000 0 10,000
OIZAHER| FISAUS B4l 10,000

403 XHXI EHHI S X201 & 1,260,000 1,000,000 260,000

02 B 2SO0l CHBHCH AL H] 1,260,000 1,000,000 260,000
OSHAZZAE gt 1,200,000
OSHATZAL HUHH 60,000

Yy ZHSSH AY(2D) 1,466,000 1,467,000 21,000
Z 1,000,000
= 466,000

403 KX SHHS X201 & 1,466,000 1,467,000 A1,000
= 1,000,000
< 466,000
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A
X‘lil-l:
C}ol

HMEMEL

ZE HE 2B A8 (S 22/HR)

<
CHISIIBANE 5

1,466,000 1,467,000 1,000
oYY ZESH AY 1,466,000
= 1,000,000
= 466,000

SO SEAAF AY(2D) 2,465,000 733,000 1,732,000
= 1,450,000
< 1,015,000

403 XHXI M S XH2 01 & 2,465,000 733,000 1,732,000
z 1,450,000
= 1,015,000

01 XIS Rt 2 = 2,465,000 733,000 1,732,000
OSH EEAHE A 2,465,000
Z 1,450,000
= 1,015,000

£x MENSIY T&(2D) 1,393,000 587,000 806,000
= 950,000
< 443,000

403 XHXI M S XH2OI & 1,393,000 567,000 806,000
= 950,000
= 443,000

01 RIS K= 2 E 1,393,000 587,000 806,000
Oxx MENSIZA X4 1,393,000
= 950,000
= 443,000

%% HEA HIOIBRE(2D) 440,000 0 440,000
Z 300,000
= 140,000

403 X+XI EHHIS X2 0l & 440,000 0 440,000
z 300,000
= 140,000

01 RIXISH R =22 X 440,000 0 440,000
oYY NEIN HOIB 440,000
z 300,000
& 140,000

& A MSBY Z4(21) 146,000 0 146,000
Z 100,000
g 46,000

403 XX SHSKHROI & 146,000 0 146,000
z 100,000
= 46,000

01 RS R=EE 146,000 0 146,000
O3t& AU MEBE x4 146,000
= 100,000
= 46,000

=X HSAE ORIEY &X(21D) 616,000 0 616,000
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SA:

X ZH :
=

eel:

M

2E MR 2T A (S )/

b

2XE]D

FI|EAE &S

& 420,000
[= 196,000

403 RHXISHERHS0| & 616,000 616,000
z 420,000
= 196,000

01 IIXICHRIK=E X 616,000 616,000
OZX MSAL OFHZE &3 616,000
2 420,000
= 196,000

=X 20IMBR lpHal(21) 836,000 836,000
Z 570,000
[ 266,000

403 XHXI S SXH=01 A 836,000 836,000
z 570,000
[= 266,000

01 IIXISRIK=EX 836,000 836,000
OFd Zolmap pouy 836,000
z 570,000
[ 266,000

A2 SAEXHIE AE(2]D) 2,800,000 2,800,000
= 1,650,000
[ 1,150,000

403 XSRS RHE0I & 2.800,000 2,800,000
= 1,650,000
[=4 1,150,000

01 ISR =EE 2,800,000 2,800,000
OUE SABZAIE M= 2,800,000
= 1,650,000
= 1,150,000

QAxE ATDESR A=(2D) 1,610,000 1,610,000
= 950,000
[=4 660,000

403 XIS SER=0IE 1,610,000 1,610,000
= 950,000
= 660,000

01 AXISH =X 1,610,000 1,610,000
OR/RE ATEST A= 1,610,000
= 950,000
[= 660,000

UE ZE2ESH HEL(2D) 2,040,000 2,040,000
= 1,200,000
= 840,000

403 KX SHIS X0 H 2,040,000 2,040,000
= 1,200,000
[= 840,000

01 HXSHAEEX 2,040,000 2,040,000
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SA: MEISWH
HA: 2 M AT M (S BE/HS)

B HSIIBAIE &5

2040000

= 1,200,000
< 840,000
H=sUs Xd € &3 s4 15,297,172 13,600.760 1,696,412
i 25,000
< 15,272,172
T 4G HSHA 22 - XE 12,587,120 12,323,700 263,420
307 e1zZroj & 12,587,120 12,323,700 263,420
02 DlZtB A E X 12,587,120 } 12,323.700 263,420
Ok M=3 XA 9,430,000
O Fux=sa X 2,026,120
ok dEHM=3 X3 1,131,000
FoiHs 243 53,800 54,200 2400
202 0iHl 3,600 4,000 2400
01 S0l 3,600 4,000 2400
O HM=gs A& 3,600
307 21z2tol & 50,200 50,200 0
04 CIZFHAE R 50,200 50.200 0
OoFMR M=Ua X 50,200
HsUs iz 2 ot 1,590,000 1,080,000 510,000
307 giz2tol ™ 1,230,000 980,000 250,000
04 2IZHHALE & 1,230,000 980,000 250,000
OUCE H HENSU N 480,000
ocdA ME=HAM NS 420,000
OXF=ICMENSUFH It 120,000
OUHTMEHIUS HE X& 110,000
OHEHM=E ESSEU Mz XNJ 100,000
308 A+ XIEHHI S0l & 360,000 100,000 260,000
01 AXEMBSEES 360,000 100,000 260,000
OF+F0 HA=EU3 Nzl XN 10,000
od=2480U3 M X& 50,000
ORNI48s] ZEEZUHSEUS Wz XA 300,000
M=z 243 16,252 17,780 21,528
201 ¢Er2d| 1,500 1,500 0
01 AR 22l 1,500 1,500 0
OUR3X & ¥ &+ e 1,500
202 04H] 14,752 16,280 21,528
01 FUObI 14,752 16,280 21,528
OHM=0Hg Mzl L HIHXE 13,752
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FA HSAEES

Y 2Ae S AAT NEH(SHUBB/NS)
©9: HSHE N 2 o 54 (E5:88)

oM =84 XY 1,000
FONQl MEXSUE W (2D) 50.000 30,000 20.000
p] 25,000
= 25,000
307 @120 & 50,000 30,000 20.000
J| 25,000
[ 25,000
04 DIZHSHALE X 50,000 30.000 20,000
OO MSBHSHS M 50,000
Il 25,000
= 25,000
2RFC A3 X 1,000,000 0 1,000,000
201 LEr2 Y| 1,000,000 0 1,000,000
01 Al 22/t 1,000,000 0 1,000.000
OUYUFC B2 CHEY 1,000,000
MBS COIEG B 2,507,402 2,344,314 163,088
Il 2,332,212
< 175,190
MBHSKNEX X (2D) 1,203,360 1,203,360 0
Il 1,203,360 :
308 XHXISHHISOI A 1,203,360 1,203,360 0
7l 1,203,360
01 XIXISHHZAEES 1,203,360 1,203,360 0
OMBHSNZR HHXI 1,203,360
Il 1,203,360
024 HsEs NA(2D) 641,194 580,960 60,234
bl 618,677
S 22,517
307 QIZHOI A 45,034 40,000 5,034
Il 22,517
= 22,517
02 DIZFAAE X 45,034 40,000 5,034
o024 HSEES XY 45,034
b] 22,517
[ 22,517
308 MHXISHHSOIA 596, 160 540,960 56,200
J| 596, 160
01 XIXISHHZAE X2 596, 160 540,960 55,200
o024 MsES XY 596, 160
b] 596, 160
HEUHISH AF(2D) 539,784 482,630 57,154
Il 444,528
[ 95,256
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A HESIED
IH: YE s 2T LS (S 2R/AK)
|.

ER MBS TOEC Eo (e @ ¥)

308 AtXIHHMSO0IA 539,784 482,630 57,154

p] 444,528
= 95,256
01 RXEHBAEEZ 539,784 482,630 57,154
OAZEXHIH AR XI® 539,784
pJ 444,528
= 95,256
MBHSD2IY 29 50,000 0 50,000
308 XXI EHHI SOI ® 50,000 0 50.000
01 HXSHIA BT 50,000 0 50,000
OMEHSEZIY 29 X 50,000
MEHSE 2NNV (2D) 73.064 77,364 £4,300
pJ 65,647
< 7,417
307 812+0I & 14,834 15,264 £430
b 7,47
= 7.417
02 QIR A 14,834 15,264 A430
O MBHES X 14,834
p] 7,417
= 7.417
308 XX SHH S 0| ® 58,230 62,100 13,870
b 58,230
01 RSB A BT 58,230 62,100 13,870
OMEBISS 2N 58,230
b 58,230
HE ZHDE 243 165,970 155,223 10,747
2WHEDE 165,970 155,223 10,747
201 Y2 | 32,200 26, 144 6,086
01 Ak 22It| 8.000 2,940 5,060
CEN b InE 8,000
03 8 AL | 24,200 23,204 9%
O=MHERE 24,200
202 Ot 1,500 1,500 0
01 2U ol 1,500 1,500 0
OZHHMSRE =& 1,500
301 YerR A 132,270 127,579 4,691
07 12+l =2/ Of bl 58,100 84,700 £,26,600
O=HHMSRE 58, 100
08 €181 E & 01t 52,720 26,100 26,620
O=HHMSRE 52,720
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SN MRHED
Hm: 28 US 2
ool HS 2HDE

o 11
X

tor
Y
Y

e
o

10 AL I

Ba=s 4,671
O=HH=SuE 21,450

ZZANE BRI (S 2/22) 72,680 90,850 218,170

AL 5ot X3 72,680 90,850 218,170

2FAE ot K& 72,680 90,850 218,170

201 2er22| 60,800 76,000 215,200

01 AtR2t2IHI 60,800 76,000 215,200
o8It 24 4,000
CLET ==F UG 2 43,600
OZAT ==& 2T HMrE 13,200

202 0iHl 11,880 14,850 22,970

01 SLHOBI 11,880 14,850 22,970
o5t gRFa 11,880

HH2AAH(MSHED)(IIEH/IIE 25,000 22,890 2,110

Jl2&H| 25,000 22,890 2,110

EA2E J12ZH| 25,000 22,890 2,110

201 24| 18,500 17,130 1,370

01 AR 22|l 18,500 17,130 1,370
PA2Z AR 22l 18,500

202 Ol 6,500 5.760 740

01 =HOHI 6,500 5,760 740
ORA2Y =0 6,500
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